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QUESTION 1

Service intermediaries can be further classified as __________________ or __________________ depending on
whether they modify message content. Select the correct answer. 

A. event-driven, dynamic 

B. active, passive 

C. composed or decomposed 

D. read-oriented, write-oriented 

Correct Answer: B 

 

QUESTION 2

WS-Addressing is most commonly associated with __________________ functionality. Select the correct answer. 

A. process management 

B. policy enforcement 

C. message routing 

D. choreography 

Correct Answer: C 

 

QUESTION 3

Which of the following statements is false? Select the correct answer. 

A. The WS-I is an industry standards organization that provides basic profiles to help foster interoperability among
solutions based on XML and Web services industry standards. 

B. OASIS is an industry standards organization that has developed a number of important technology specifications,
including WS-BPEL and UDDI. 

C. The W3C is a standards organization that has developed a number of important technology specifications, including
SOAP, WSDL, and WS-Addressing. 

D. The OAS-C is an industry standards organization that has developed a number of important technology
specifications, including WS-Security and XML Schema. 

Correct Answer: D 

 

QUESTION 4

Latest S90.02 Dumps | S90.02 PDF Dumps | S90.02 Braindumps                                2 / 6

https://www.passapply.com/s90-02.html
https://www.passapply.com/s90-02.html
https://www.passapply.com/s90-02.html


https://www.passapply.com/s90-02.html
2024 Latest passapply S90.02 PDF and VCE dumps Download

Which of the following statements is true? Select the correct answer. 

A. Individual service contracts do not need to be published for SOAP-based Web services. Instead, they use a uniform
contract. 

B. Individual service contracts do not need to be published for REST services. Instead, they use a common uniform
contract. 

C. Components provide published contracts, but when building services as components, components must use a
uniform contract instead. 

D. None of these statements are true. 

Correct Answer: B 

 

QUESTION 5

Which of the following XML documents can be part of a SOAP-based Web service contract? SELECT ALL THAT
APPLY 

A. WSDL definition 

B. HTTP definition 

C. XML schema 

D. WS-Policy definition 

Correct Answer: ACD 

 

QUESTION 6

When designing REST services within a given domain, you establish __________________ that are represented by
unique identifiers, usually in the format of __________________. Select the correct answer. 

A. resources, HTTPs/HTTPSs 

B. mashups, HTTPs/HTTPSs 

C. resources, URLs/URIs 

D. mashups, URLs/URIs 

Correct Answer: C 

 

QUESTION 7

XML is a form of: Select the correct answer. 

A. microdata 
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B. metadata 

C. valid data 

D. relational data 

Correct Answer: B 

 

QUESTION 8

Which of the following technologies can be used to enable the exchange of data between services? Select the correct
answer. 

A. SOAP 

B. HTTP 

C. WSDL 

D. All of the above. 

Correct Answer: D 

 

QUESTION 9

Which of the following technologies are fundamental to REST service design? SELECT ALL THAT APPLY 

A. HTTP 

B. WSDL 

C. MEP 

D. RPC 

Correct Answer: A 

 

QUESTION 10

Services hosted within an enterprise service bus cannot support asynchronous message exchanges due to the
limitations of message routing features built into enterprise service bus implementations. Select the correct answer. 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 11
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Which of the following statements is true? Select the correct answer. 

A. An initial sender is at the beginning of the message path, whereas the service consumer is at the end of the message
path. 

B. An intermediary service transitions through the initial sender role when it invokes another service provider. 

C. An initial sender is the service consumer at the beginning of the message path, whereas the ultimate receiver is the
service provider at the end of the message path. 

D. An initial sender is not related to the message path but is instead a part of hybrid service component composition
sequences. 

Correct Answer: C 

 

QUESTION 12

Which of the following statements is true? Select the correct answer. 

A. One way in which REST services are different from components is that components each expose their own technical
interface (or technical contract), whereas REST services share a single uniform contract. 

B. One way in which REST services are different from components is that components typically exchange data using
HTTP, whereas REST services typically exchange data using binary protocols. 

C. One way in which REST services are different from components is that components cannot themselves become
services. Instead, components are used by services, such as REST services. 

D. One way in which REST services are different from components is that components cannot exchange data remotely
(across server boundaries), whereas REST services are designed to be distributed. 

Correct Answer: A 

 

QUESTION 13

Which of the following statements does not make sense? Select the correct answer. 

A. I built 3 SOAP-based Web services, each of which has its own published WSDL definition. 2 of the WSDL definitions
share the same XML schema. 

B. I built 3 XML schemas, two of which are being shared by the same WSDL definition. 

C. I built 3 WSDL definitions and 3 XML schemas. Each WSDL definition is associated with its own XML schema. 

D. All of the above statements make sense. 

Correct Answer: D 

 

QUESTION 14

Which of the following are associated with the functionality provided by a typical enterprise service bus? Select the
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correct answer. 

A. reliable message delivery 

B. intermediate message routing 

C. temporary storage of messages in queues 

D. All of the above. 

Correct Answer: D 

 

QUESTION 15

XPath expressions are often used by: Select the correct answer. 

A. XSLT and XQuery 

B. XSLT and WSDL 

C. XQuery and SOAP 

D. XQuery only 

Correct Answer: A 
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